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The answers are in exposing this
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Example 1: 
This note was paid off in full by a payment of $545,820  to the estate on April 21, 1992.  The note is reported to the IRS as late as April 10, 1995, as if it would still not be paid off until its scheduled maturity date of April 21, 1995.  The note is not mentioned in the second accounting to the court. It should not disappear from the court accounting with no explanation.

Can we expose the accounting trails of the $545,820 payment to the estate on April 21, 1992?
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Our sister Jean Nader is innocent and is being used. 
Our family is innocent.
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Example 2 
(Example of an accounting entanglement):

These two items are part of the accounting trail  1,475 - 816 = 659.   The accounting trail 1,475 - 816 = 659 is the simplest example of an accounting entanglement. The accountants who created it, reported it, and approved it do not recognize this accounting trail  or any accounting trail for these two items when asked.  The ubiquitous accounting entanglements in Bk467p191 make the accounting trails impossible to expose.

Can we get the accountant's to explain the accounting trail behind these two items? 
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 1,475.97 - 816.00 = 659.97

anthonyoconnell
1,475.97 - 816.00 = 659.97  is the best, if not the only, viable window to see what is behind the accounting at Bk467p191. It is a good guide because it is simple. 
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Example 3
(Example of making money disappear using two versions of an  accounting trail.)

There are two versions of the estate tax return extension request (IRS Form 4768) and two versions of the estate tax return (IRS Form 706) with the same dates but for different amounts.  One version says $175,000 was paid to the IRS on June 11, 1992, and one version says $119,000 was paid to the IRS on June 11, 1992. There should only be one version.

Can we expose the accounting trails for the two versions and find out where the $70,051 "overpayment" went? 
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Notes:
The items  described in these seven notes create accounting entanglements that make the accounting trails behind Bk467p191 impossible to expose. All except note 6 make it appear that our family is responsible for them.  The 241.81 in note 6 covers the April 21, 1991, payment of $125,188 to Jean O'Connell before she died.
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The $526 is an accounting entanglement that covers the accounting trail of the payment of $125,188 to the estate on April 21, 1991.

Can we expose the accounting trail of the payment of $125,188 to the estate on April 21, 1991? 
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I do not understand why I could not find out about this Debts and Demands procedure until after it was past.
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    1,475.97 - 816.00 = 659.97
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Appraisal fee is zero, not 2,000.00 as stated in note 5
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Text Box
Can we connect the dot for Bk467p191 being closed for nineteen years with the dot for killing the messenger who has been trying to open it for nineteen years? Can we find out where the money went?
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Text Box
After nineteen years I have been able to expose only two accounting trails with certainty;  both are accounting entanglements and neither is recognized by the accountants. Bk467p191 is a huge, impenetrable ball of confusion and conflict.
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Fee 

 
The $2000 appraisal fee was paid for by the Trust. Bk467p191 says it was paid 

for by the Estate  
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Example 3
(Example of making money disappear using two versions of an  accounting trail.)

There are two versions of the estate tax return extension request (IRS Form 4768) and two versions of the estate tax return (IRS Form 706) with the same dates but for different amounts.  One version says $175,000 was paid to the IRS on June 11, 1992, and one version says $119,000 was paid to the IRS on June 11, 1992. There should only be one version.

Can we expose the accounting trails for the two versions and find out where the $70,051 "overpayment" went? 
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Notes:
The items  described in these seven notes create accounting entanglements that make the accounting trails behind Bk467p191 impossible to expose. All except note 6 make it appear that our family is responsible for them.  
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The $526 is an accounting entanglement that covers the accounting trail of the payment of $125,188 to the estate on April 21, 1991.

Can we expose the accounting trail of the payment of $125,188 to the estate on April 21, 1991? 
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1,475.97 – 816.00 = 659.97 
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Example 2 
(Example of an accounting entanglement):

These two items are part of the accounting trail  1,475 - 816 = 659.   The accounting trail 1,475 - 816 = 659 is the simplest example of an accounting entanglement. The accountants who created it, reported it, and approved it do not recognize this accounting trail  or any accounting trail for these two items when asked.  The ubiquitous accounting entanglements in Bk467p191 make the accounting trails impossible to expose.

Can we get the accountant's to explain the accounting trail behind these two items? 
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 1,475.97 - 816.00 = 659.97

anthonyoconnell
1,475.97 - 816.00 = 659.97  is the best, if not the only, viable window to see what is behind the accounting at Bk467p191. It is a good guide because it is simple. 
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                 Accounting entanglements 

The accounting trail 1,475.97 - 816.00 = 659.97 is the simplest example of an accounting entanglement. An accounting entanglement is used as a wedge and takeover tool and as cover. Whoever controls the accounting entanglements controls the people and assets that are entangled. Small amounts are used to make them appear insignificant. They are ubiquitous; all seven notes at Bk467p193-p194 describe what are actually accounting entanglements; all but note six are made to appear as if the family created them. 
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